6%

2%

6%

8%

15%

o&#®
BitEE
oF8
OfmE
mFE
aEs
BEF
OOt |

E17-1 ERHIBTOANLRBAREE

3000 o

2500 |
"W 2000 |
£ 1500 |
1 1000 |
B

500

——li: T I
e RO AR I LA
—o— RS

(0o

12.1
E17-3 "RAHTOA/VVERRE L

9%

12%

123 125 127 129 121

3y1% 1%

Ei8-1 REAHETOAMI=RINAREE

==ltur T
| WA R
—e—EHMEORE |

il

121 123 125 127 129 121

oLEE

BEH

aO=EHE

ORm
49%i-ﬁm ;
oz
L
|OEE

|

HESR

OFE
oot

180000
160000
140000
120000 5
100000 =

{ 80000 X

60000 &=
40000
20000

0

E18-3 ERMAIZETDXTA A= DIKE Ll

60000 —a—EH }A
f\ HE |

50000 / \ —o—H }-—

o

E17-2 RERTFHBTOA/LERIRE

-—REE
WMMM]—O—:FEJ*-{EE \ 2500

2000
1500
1000

500

1A 3A 5A 7R 9A 1A
H17-4 BRRTOMNLO A JREREHE

12.1 123 125 12.7 129 121

F18-2 RERMIBTOA V(N IkE

50000
45000
40000

_ 35000

~ 30000

o8 25000

# 20000

< 15000
10000
5000

0

1400

1200

o
[=]
o

g)

{ 800
600
400
1 200

78 9A 1R

1A 3R 5A

H18-4 ERBRTOA M =D A RBRLEE

= 125 —

Bi{fi (B ke)

121 122 123 124 125 126 127 12.8 129 121 121 121

BfH (M. k

80000 |~ Ll
|——EH
70000 “‘*—E‘”‘i
60000 ——1EE |
| |
50000 ‘—‘—iﬁl |
¥ 40000 ‘_ﬁ—ilﬁ |
30000 l—D— BE |
|
20000 —o—Bil |
10000
0



